P226. Lecture 5. 4/16/2019
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Transistor (transconductance resistor) is a three terminal device to switch
or amplifier signals.
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Rules for NPN transistor

Collector is more positive than Emitter.

2. Base-emitter and base-collector are effectively diodes.

3. |_collector = beta |_beta. Beta can be as high as 60-100

4. Constraints: |_base, |_collector and V_ce should not be too high.
Typically |_collector < 0.1~1 A and V_ce < 15~40V.
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Model of a NPN transistor: \ ]
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Applications:
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Emitter follower: emitter follows the input (base), less one diode drop,
with a factor of beta lower output impedance or higher input impedance:
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Transistor as a current source
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Transistor as an amplifier:
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